
MAT226 Lecture 19 4/6/2020

M-t.pe#egraE Sy-2dg -- I÷I= - f
Silay' tag) dy - Kitty) -12¥Hi =
x here is a constant ;(the variable of integration is y)
= f Eg + 5) Ii - f tx) - f-Eti)

F.

=-2Xtx2t2x-1=3x2-2x-#
1.41*54andg)*Sixd Hens:÷:
If
**Hits.ie?-kaEIW3I.Vpshot#
I:&:@x'5431dg)dx⇒ ) ?÷÷k÷÷÷÷"neabove 2

integrals
Is



Iteratedintegral :ftp.flxiy/dAffabfg!!IKiildydx=ffflxydy)dx- number !÷n¥÷÷÷÷. .
¥4444,6994 ladonyasweaeinfeegntey)t÷¥÷÷:÷÷÷÷m

fdfnhiigjfkiddxdy-fodfgniijfcx.mx/dy--nan#FnE
alone (all x's
are gone) dA=dxdy

'÷÷÷i¥¥¥¥¥÷:÷÷÷¥÷÷÷÷:



Revisilingfexmple
;!
- -
-
-
- i

,
× ..÷÷*¥¥¥i÷÷ ftp.axhfeayda-fi#x2y-4ag)dydx-s'

x
x w

- DA

R is the triangle T double integral of
with vertices fail - 2×252 -12g( 1,4 , 12,17, and (2K) over the region R
GIVEINTERPRETAMON-iffflx.glDA = Voldsme under the graph Z- flxiy)

az
(
over the region R

)

.gg#.*Z--fkM)
so. In the example

÷÷¥i÷I¥¥÷ . ÷: mmmm
x R

of fHH=2gI+2y
over the triangle R
is =3

.

3



withhold
: dA=dydx

Int
I:&:(255431dg)dx⇒

•
y=X

""÷÷i÷÷÷⇒.

÷÷÷÷BY
2 2

f§ax2jk2ydA=÷f÷÷f2x2jI2g)dxdy
=f!fjfft2y)dxdy=f!f⇐¥+ayx)§dy
.si#.::::dt:::::Id'

.



= f ! Hz 52+4y - Eg y - 2y
'

dy

= 's tillit ⇐I 'II: - aEli
= 's f- It e) + Ffa - II - al's - 5)
Iz Ta Is

= Eg t 5- II = 8%-14--93=22

.li#IIa:::s.:n;:.r:h..ie;tes:t::een.t
charge the result , boat it might make
the computation easier/ harder

.

-
5


